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vold MyMainProg(void)
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GpiolhataRegs. SPASET. bhit. 5PICZT = 1; /4 Turn on the buzzer

DELAY US( Y

GpiohataRegs. SPACLEAR, hit.3PIOZT = 1; /4 Turn off the buzzer
BachLightLoD(l);

InTtLCD () ;
DELAY US{10000);
ClearLD i) ;
PrintLoD ("AFEKSE LAE™);
while{1)
{
Togyle I/0s using DATA, #ET, CLEAR and TOGEEL registers
SpioDataRegs. SPADAT. all = : J/ DAT Register (hazardous
spioDataRegs. SPCCLEAR.all = ; // CLEAR Register

GpioDataRegs. GPCTOGGLE. all
DELAY Ul (MyDelayLoop) ;

// TOGZEL Register

GplobataRegs. SPADAT.all = : // DAT Register (hazardous
BpilobataRegs. SPCEET. all = H // SET Reglster
splolataRegs. SPCTOGELE. all = ; // TOGEEL Register

DELAY U3 (MyDelayLoop) ;

Reading the switches

[N

[

SpicolataRegs. SPCDAT. bit. 3PIC6d = SpicDataRegs. FPADAT.Lit.EPIOE; // (hazardous 111}
SpilolataRegs. SPCDAT. bit. 3PI065S = GSpicDataRegs. FPADAT.Lit.EPIOY; // (hazardous 111}

GpioC8etllear{?, GpioDataRegs.GPADAT.bit.GPIOL0) ; A4 Mo Risk 111
GpioC8etllear{?, GpioDataRegs.GPADAT.bit.GPIOLLl) ; A4 Mo Risk 111
}



